log using "D:\Jason\workshop\Introduction to Stata Analysis\Introduction to Stata Analysis2.log", replace

KA A A Ak Ak Ak Ak Ak Ak Ak Ak A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AR AR AR AR A AR A A A A A A A A A A A kA A hk kA k kK%

* This command file demonstrate the steps of determining if gender is a significant predictor of health.
* Respondent's age is used as another independent variable and the control variable is whether respondents

* live in a city or rural area
KA A A Ak Ak Ak Ak Ak Ak Ak Ak A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AR A AR AR AR AR AR A A A A A A A hA A Ak A A A kA hAhAkk k%

use http://www.stata-press.com/data/rl3/nhanes2f, clear

R R e I I I S I I I I R R R Rk ki kb b b ek I I I i

* check the data and the number of observations
Ak hkhkhkhkkhkhhkhkhkkhhhkhkhrkhhhkhkhkhkhhkhkhkhkhkhkhkhkhkrkhkhkhkhkrdhkhhhkhkhdxkhx

des, short
count

Kk kkkkkkkkkkhkkkk*k

* Select variables
*khkhkhkkhkhkkhkhkkhkkkkkhx

keep health agegrp female rural psuid finalwgt stratid

KhkhkhkhkhkhkhkhkhkhkhkkhkhkhhhkkhkhkhkhkhkhkhkrArArArA A A A A Ak xx

* Check the distribution of variables
khkhkhkhkhkkhkhkkhkhkhkkhhkhhkhkhhkhhhkhkhkkhkhkhkhkhkhkhkhhhkhhkhkk

des health agegrp female rural psuid finalwgt stratid
sum health agegrp female rural psuid finalwgt stratid
tabl health agegrp female rural, mis

Ahkhkhkhkhkhkhkhkhkhkhkhkhkhhhhkhhkhkhkhk bk kA kA A A A A A A A A Ak Ak Ak hkhkhkhkhkhkhkhkhkhkhkhkhhhhhkhkhkkkk*x%

* Create missing values on two variable (i.e., health and agegrp)

* for demonstrating how to use the -mi impute command
Ahhkhkhkhkhkhkhkhkhkhkhhhhhhhhhkhkhk bk bk bk bk bk b dA b A b b rrr bk kbbb hkhkhkhkhkhhhhhhkhkhkhkkkkkkk*k%

set seed 98034

generate ul = runiform()

tabl ul, mis

replace health =. if ul >= .9487244
replace agegrp =. if ul >= .98

Khkkkkkkkkhkhkhkhkkhkkhkkhkkhkhkhk k kxkx*

* Step #1: multiple imputation

*khkhkkkkkkkkhkkhkkhkkhkkhkhkkkkkk*k

mi set flong
mi misstable summarize health agegrp female rural psuid finalwgt stratid

mi register imputed health agegrp
mi register regular female rural
mi impute chained (ologit) health (ologit) agegrp = i.female i.rural, add(5) rseed(98034)

* mi passive: generate age female = agegrp*female
* label variable age female "interaction term of agegroup and female"

*khkkkkkkkkkkhkhkhkkhkkhkhkhkkkkk*x%

* Step #2: Set the -svy-command

R R R R I I S I S S S S S S

mi svyset psuid [pweight=finalwgt], strata(stratid)



*khkhkkkkkkkkhkkkhkkhkkhkkhkhkkkkk*k

* Step #3: Obtain descriptive statistics
AKhkkkkkhkkhkkhkhkhkkhkkhkkhkkhkhkkhkkhk k k k,k*

mi estimate: svy: mean health agegrp

mi estimate: svy: proportion female rural

KA AR A Ak Ak Ak Ak Ak Ak A Ak A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AR A A A A AR AR AR AR A A AR A A Ak Ak kA kK%

Step 4: Perform a series of regression analyses to put the theoretical questions to the test.

The research question is if being female is associated with an increased level of self-reported health
after two variables (agegrp and rural) are in the model

The post-estimation test also test if both respondent's age and gender predict the outcome variable

and if age and gender have the same association with the outcome variable
Ahhkhkhkhkhkhkhkhkhkhkhkhhkhhhk bk bk bk bk bk kA Ak A A A A A b bk dkdk ko ko ko ko ko hkhkhkhkhkhkhhhkhkhkhkhkhkhkhkhkhkhkhkhkhkhk kA kA Ak Ak dkrkrhkhkhkhkhkhkhkhkhkhkhkhkhhhhkhkkkk*k

* % %

mi estimate: svy: ologit health agegrp
mi estimate: svy: ologit health agegrp female
mi estimate, saving(d:\temp\full.dta, replace): svy: ologit health agegrp female rural

AhkhkhkhkhkhkhkhkhkhkkhkkhkhkhkhkkhkkhkhkhkhkhkhkhhkhAhr At rx

* post-estimation test
R R I I I S S I S I S I

mi test agegrp female
mi estimate (diff: blagegrp]l- b[female]) using d:\temp\full.dta

Khhkhkhkhkhkhkhkhhkhhhhhhhhkhkhkhkhhk b A hAdArr A b rrrrrrhkkhkhkhkkkkkkkk

* The results are reasonable, so no Steps 5 and 6
KAk hkhkhkhkkhkhhkhkhkhhhhhkdhhhhkhhhkhkhkhkhkhhkhhkrkhhkhkhkrkhhhhhkhkhkhkhkxkkxx

R I R R R R R bk kS b I I I I I I I R R R Rk b bk kb kb b b b b i I i

* Step 7: Sensitivity test by using a new operationalization of health in analysis
Ak hkhkhkhkhk ok hkhkhk bk hk kA Ak hk kA hhk ok hkhk ko k ko hk ok hkkhhhkh kA hk ko hkhk ko h ko hkhkhkhkhkhhkhkhhhkhkhhkhhkhkhkhkhkhkhkhkhkhkrdhhkkhkhkrhhkhhhkhkhk*x

clonevar health2 = health

recode health2 (1/2=1) (3=2) (4/5=3)

tab2 health health2

label variable health2 "recoded Health into a three-category variable"

KAhhkhkhkhkhkhkhkhkhkhhhkhkhkhhkhk kA hk Ak A A A A A A A A A Ak ddd ko ko ko ko ko ko ko hkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhk kA kA kA A Ak A Ak kK

* reanalyze the data, using the recoded Health2 variable as the outcome variable
LR R R R R R R R R R R b bk b b b I I R I I I I R R Rk kb Sk kb i

mi estimate: svy: ologit health2 agegrp
mi estimate: svy: ologit health2 agegrp female
mi estimate, saving(d:\temp\full2.dta, replace): svy: ologit health2 agegrp female rural

Ak hkhkkhkhkkhkhkhkhkrkhhhkhkhhrhhkhkhkhkhkhkhxkhkhkhxk

* post-estimation test

Ak hkhkkhkhkkhhhkhkhkkhhkhkhhkhkrkhkhkhkhkhkhkhkhkhdxkhkxkk

mi test agegrp female

mi estimate (diff: blagegrp]- b[female]) using d:\temp\full2.dta

log close



